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1. 3P T e > 25N 5 1 &2 #2358 (exact equation) ¢ # f )i f3

(siny +ycosx)dx + (sinx+ xcosy)dy =0 (15% )

9. fAA AR AT

{ ym_zynzo

y(0)=2, y(0)=1,y"(0)=0 (15%)

3. s f(1) Laplace ## Tk & F(5) =L(F(D) = [F(edt - e 25
0

(1) #& f(t)=cos(2t)# Laplace ## - (5%)
P LEO)=sFO)-10) » # ¢ 1) =10 5 sl 0% terties - (5W)
(3)# * Laplace #& # iz {y’(t):cos(Zt) (10%) °
y(0)=2
2 1 -4 , .
4 A —5é+3=:{2 _5} » R A=?  (Matrix) (159% )

5. BN ATH FHLAE} HVDO =22 VO=04E: -

#e s VO=VeVD -  (Vector) (15%)
. . . oD oD
(Hint : Cartesian A&t ehikiE iz 4 Y®=§xa+§ya>

6. = wf(X)=x, —wr<x<zm 2 f(x+27)="f(x)

R f(x) e = ¥ sdi(Fourier Series) ° (20%)
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